Volume [% RGI]

RGIO1 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGIO2 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGIO3 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI04 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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RGIO5 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI06 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGIO7 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI08 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI09 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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RGI10 (dash=stop). Stop crit 2 (SMB based, 100 yr period)

1.0 1 1851-1870
1901-1920
0.9 - 1951-1970
1995-2014
=084 | 5 Nethviam Nl
(D . Y o e S e g o W e e o] P s e Xy O -
o : Lo alu sttt udtoiidichnsinb e ooyl
X074 | ae
g i
5 |
5061 |
g '.
0579 |
\
\
0.4 \_ __________________________________

0 1000 2000 3000 4000 5000
time



Volume [% RGI]

RGI11 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI12 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI13 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI15 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

3.0 A

RGI16 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI18 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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Volume [% RGI]

RGI19 (dash=stop). Stop crit 2 (SMB based, 100 yr period)
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